Listening comprehension
Job
You'll hear the conversation of 2 friends.
On this sheet of paper  write only one number 
which is appropriated to the correct answer.
Loveline
1) is a shop assistant in a store department
2) is a sales assistant in a market
3) is an assistant purchaser officer in a print department
Loveline
1) is not satisfied with her job
2) is satisfied with  her job
3) is not sure that she is satisfied with her job
Loveline
1) she joined the company a month ago
2)she joined a company a couple of months ago
3) she joined the company more than 2 months ago
Loveline
1) she doesn't have any problems because she gets on well with her boss
2) she doesn't have any problems because she is afraid of her strict boss
3) she doesn't have any problems because she is a well-disciplined person
Shalock
1) is trying to find a job
2) is going to change his previous post
3) is ready to be interviewed in any moment
Shalock
1) he wants to join training courses as he hasn't enough competence
2) he is going to join training courses  because of the lack confidence
3) he needs to have training courses as he can't to say any compliments
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